HD> Y —X B iRk

L PSR

I
J
1ISO 8409 —




W& ~TiE—E

HAL D mm
~h& HDO047 HD064 HDO090 HD110 HD140 HD200 HD255
D1 w7 12 20 315 40 50 80 100

D2 20 31.5 50 63 80 125 140
D3 n7 28 40 63 80 100 160 180
D4 n7 47 64 90 110 140 200 255

D5 67 79 109 135 168 233 280

D6 4XM3x0.5P | 7xM5Xx0.8P 4xXM6X1P 11xXM6x1P | 11xM8x1.25P | 11xM10x1.5P 12xM16 x 2P

D7 72 86 118 145 179 247 300
D8 H7 3 5 6 6 8 10 12

D9 455 55 7 90 113 138 175
D10 8x3.4 8x4.5 8xb.5 8xb5.5 12X6.6 12x9 16 x13.5
D11 w7 60 70 95 120 152 212 255
D12 46.2 63.2 89.2 109.2 139.2 199.2 254

L1 4 8 12 12 12 16 20

L2 6.5 8 13.5 13.5 17 22.5 30.5

L3 3 3 6 6 6 8 12

L4 19.5 19.5 30 29 38 50 66

L5 7 7 10 10 14.6 15 20

L6 4 4 7 8 10 12 18

L7 7.7 8 10 12 15 20

L8 18.5 28.5 27 37 62 69.5 82

L9 6 7 7 7 10 10

L10 0.5 0.5 1 1 1 1 1

C1 46 70 100 130 165 215 235

C2 M4 x 0.7P M5 x 0.8P M6 X 1P M8 x 1.25P M10x 1.5P M12 x 1.75P M12 x 1.75P

C3 =11/=12 =14/=16 =19/=24 =32 =38 =48 =55

C4 30 34 40 50 60 85 116

C5 30 50 80 110 130 180 200

C6 3.5 8 4 5 6 6 6

C7 48 60 90 115 142 190 220

C8 19.5 19 17 19.5 22.5 29 63

C9 70 82.5 99.5 121.5 151 199.5 256.5
C10 13.25 135 10.75 13 15 20.75 53.5

oD 56 % 2 66 % 2 90x3 110x3 145%x3 200x5 238%x5




W hEER A

HD 064/HD 090

e,

20z

opa,

H{I :mm

& HDO047 HD064 HD090 HD110 HD140 HD200 HD255
D1 H7 12 20 31.5 40 50 80 100
D2 20 315 50 63 80 125 140
D3 n7 28 40 63 80 100 160 180
D4 n7 47 64 90 110 140 200 255
Db 67 79 109 135 168 233 280
D6 M3 x 0.5P M5 x 0.8P M6 x 1P M6 x 1P M8 x 1.25P M10x 1.5P M16 x 2P
D8 H7 3 5 6 6 8 10 12
D10 3.4 4.5 5.5 5.5 6.6 9 135




WEEEOEEE— 4>

il AL B B L HD047 | HDO064 | HD090 | HD110 [ HD140 | HD200 | HD255
4 0.03 0.14 0.51 2.87 7.54 25.03 58.31

5 0.03 0.13 0.47 2.71 7.42 23.29 53.27

7 0.03 0.13 0.45 2.62 7.14 22.48 50.97

10 0.03 0.13 0.44 2.57 7.03 22.51 50.56

20 0.03 0.03 0.13 0.47 2.71 7.42 23.29

25 0.03 0.03 0.13 0.47 2.71 7.42 23.29

35 0.03 0.03 0.13 0.47 2.71 7.42 22.51

JEME— A b | kg - cmn2 40 0.03 0.03 0.13 0.47 2.57 7.03 22.51
50 0.03 0.03 0.13 0.44 2.57 7.03 22.51

70 0.03 0.03 0.13 0.44 2.57 7.03 22.51

100 0.03 0.03 0.13 0.44 2.57 7.03 22.51

16 0.03 0.03 0.13 0.47 2.71 7.42 23.29

21 0.03 0.03 0.13 0.47 2.71 7.42 23.29

31 0.03 0.03 0.13 0.44 2.57 7.03 22.51

61 0.03 0.03 0.13 0.44 2.57 7.03 22.51

91 0.03 0.03 0.13 0.44 2.57 7.03 22.51




WRGERE D1 RE

A B 15324 BUIR L HDO047 | HD064 [ HD090 | HD110 | HD140 | HD200 | HD255
4 19 48 130 270 560 1,100 1,700
5 22 60 160 330 650 1,200 2,000
7 19 50 140 300 550 1,100 1,800
1 10 14 40 100 230 450 900 1,500
20 19 48 130 270 560 1,100 1,700
25 22 60 160 330 650 1,200 2,000
35 19 50 140 300 550 1,100 1,800
ErgH N Nm 40 19 48 130 270 560 1,100 1,700
Lo 50 22 60 160 330 650 1,200 2,000
70 19 50 140 300 550 1,100 1,800
100 14 40 100 230 450 900 1,500
) 16 19 48 130 270 560 1,100 1,700
21 22 60 160 330 650 1,200 2,000
31 19 50 140 300 550 1,100 1,800
61 19 50 140 300 550 1,100 1,800
91 14 40 100 230 450 900 1,500
2EFELENLY Nm 1,2 4~100 IMBEERES bV
EMEANEERLE [rpm 1,2 4~100 5,000 5,000 4,000 4,000 3,000 3,000 2,000
BAANEEE [rpm 1,2 4~100 10,000 10,000 8,000 8,000 6,000 6,000 4,000
BEZNNy 77y [arcmin L 4~10 - _ =1 =1 = = =
2 20~100 - - - = = = =
BBy Zyy  |arcmin L 4~10 =3 3 =3 = = = =
2 20~100 =5 =5 =5 = = = =
1E#ENy o7y laremin L 4~10 => =° > = = = =
2 20~100 =7 =7 =7 = = = =
e Nm/arcmin 1,2 4~100 13 31 82 151 440 1006
BAREIS RS |Nm 1,2 4~100 425 125 235 430 1300 3064 5900
HRXZAXMA N 1,2 4~100 990 1,050 2,850 2,990 10,590 16,660 [ 29,430
fEREa 1,2 4~100 30,000
iz % 1 4~10 =97
2 20~100 =94
1 4~10 0.7 1.2 3.0 5.6 12 32 56
ECh= kg ) 20~100 1.0 1.6 3.7 7.3 16 37 70
16~91 1.0 1.4 3.5 6.5 15.5 34.2 67.2
ERRE °C 1,2 4~100 -10°C~90°C
bEsbicy 7)) =X
REER 1,2 4~100 IP65
HILA M 1,2 4~100 TEAHM
REE dB(A) 1,2 4~100 =56 =58 =60 =63 =65 =67 =70




